192 17"7 '010 2,80 M2 .7"02

Before each and every one — TNINY 7AN 95912

OVERVIEW

The & nx derived from the 17 of 21 12w w 7wWHw, that it is necessary for the
o7y who are authenticating the signatures on a 70w, to testify before each of
three 0°1>>7; all three 0°1>>7 must hear the testimony from the 0°7¥. Seemingly
this 1s obvious! How else can the 2°17 sign on the 79177 unless they heard the
testimony from the 21°p *7¥?! nvoIN will explain the necessity to teach us
this rule.

mooIn explains that it is necessary to teach us that the 0’7y must testify X" *193 -
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For we would have thought that since the witnesses testified in the
presence of two of the 0°1°7, the third 77 would be able to sign the P17

on the basis of the two 0°>7 who heard their testimony' -
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even though they did not testify in the presence of the third 7. Therefore
the X773 teaches us that the 0°7v must testify before all the o°17.2

SUMMARY
If not for the X713 we may have thought that if two 0°17 hear the testimony
from the 01 7y, the third 77 may also sign the poin.

THINKING IT OVER
1. Why is not every 2177 considered as v 5n 797!

2. If the reason the third 77 must hear from the 2>7¥ directly is on account of
7v *on 7y, then again the question remains: does the X7»3 need to teach us
the din that 7y *on 7¥ is 9109?!

" The third 77 hears from two 0>7¥ (the other two 0°17) that the signatures are authentic.
% Otherwise it is considered 7v *on 7y (7"7 mvoIN).
? See previous footnote # 2.
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